<%

v oFFE B &S

i HT

([£E# A A £ HEI3—F] 033227
1 R T KR R0 55 1 3 & 12372 Hh
I R — 2] https://www.town.yahaba.iwate.jp/

( i) e
(18—t bik—

i

(ﬂi’:iﬁ*ﬁi] ?éﬂi’% HBTTERIE, SR B, RN H, =2 — AT T A2

[E:E] 019(697)2111

o AT R 5 ckredest |[RE]S41. 5 BTHI6ET T
FpyFTL—xn PR CES RIS ShEwck S50 MRGEHE
— 855. 7 = xa=7 1 5MiliilE
Y ES E I ) H7.7 7RV 7Y% ML RAFAS i
8 LT E S & &
H . H15.12 W RZEOEL & S & HIE
f=mFEFL L& p] WhAs HFUs .
= ~ 3 HI7.11 R A BRS04
Sl =b E AT Frak H28.11 B ELDTE S
H30. 3  RET7F ! fkpith
H30.3 HALABYHEIRMA~— ¥ —F 2V Bl
H3l.1 AR—=YOELRXIES
B R19 CHFERIENIBHEE BN
] I L1 I RAIL BREOMCSSLYES SOTHITER
sl ok [ # AL T Rol2 (PR 77 U |
it 12 ERRAFE—ZATAYRETE | S
EHAR9.4.29 & s R6.3  H234E[E X4 ﬁl%#@&)bnﬂ\mﬁgiﬁjb)ﬁﬁL
[onEbLORH - B12]
HASES 2 S FROFIE P I BT R MBI, NS K E TR B T, H35A s

IR PR HE 251 -1 W SCALZE RN, AR AERIERES<0ICH 1A ANUCUVD, S T ERERE I B s 52

26 B NSRS 1 18 A 180 RO 4.99 U HRICEHT A MBS SRR ERET T B — ), RUCRR2 I LIS, 1T
= 4T 15 - BT > 7RV Clo BT B ILAE Lo L3 2 BB LR 1L 2 288720, R e 8 IR 7235 . HBTT
LHROTRMMBLENTVBITTdHB,
[#E£]
(1) _A[m (2)BEANZBEREHR(R6.121BTTE)
PaN g AngpE | Ekneg g B =
X3 AR JLRER 8 U | (652800 1) 5 10,535 A | 11,758 A| & 22,293 A
E| . 659 v e 2
2TAEE A 27,678 N 9,902 411.1 23.65% (3)%5%'}@1%%%1 RE-Lo3) - B
N HH AT EIES H1H IR =5
24E[EFH 28,056 A\ 10,986 416.8 26.57% m 21205311 36.0% TTFRIEET 77531 10.1%
EIEENE I 4,351,263  6.5% Z DA, 23,245,177 34.5%
(R 1EE) 26,341 N\ 11,071 391.3 28.77% = 85711815 13.0% = 57,320,000 100%

[HEZK]

(1) BT F B EE ()G EEEERHLMTE
BSYR MU A (FHHRE] "

SEAHEAR (4 FI64E3  fiI7E) FARAR UK : A0 1 347 SRR

BEARE ] (3 F643 A HiE) ) 11,590 B A H 1.8 %

AR (B FN6~94F ) | MG (B Fn10~1342)

(GEAFLS )

IR TS BENED SRk~ b+ 5EL 3uE |ETEED) R RN=Dale]
@) aA=——hlex 1. HE-FE USEEE ( 18)
BHEEHEDOELE S 2. qﬂ%ﬁ%ﬁﬁiﬂﬁﬁ%ff%\% ( 33)
EROFLLITE S 3. :\::L:?ﬁéﬂfﬁkéﬁlz%% ( 22)
AR—=YDOELRIXILES 4. qj/J\m%ﬂEE'i%% ( 8)
%knﬁ@{\ﬂ:%aébb\i%f)“@%ti&iﬁ% 5. HROHOINE LS ( 42)

BN TTT AT i 6. T~AJ\—/ O ( 8)
Ta—F ¥ —T PAL OB ZEGANLUTAERSINOKREFH IR E
[178]

(S (2) 1TBUEE (R6.41TRTE)

il F| R6.4.187E | R5.4. 18L1E

— & IT K 150 A 152 A\ TR ——— RN BORAEE R, B, AR, R B s — H5R

5 53 N N —[ BUBSIR, ITERERSEI, AR, (R AR |mx — kB
B2 5 24 N\ 23N ZOLFRER, PEEBGE, WK

©~ ¥ % &= 3 16N 17N B¥EZES — BHR

o _ R [BHV/STET
e g =t 190 A 192N BERHERS — WHR
¥ o - _aatmms — i

38.57% 38.9%
(— % 47 B k) ™ =
BHEES — HEE  — FRHER SULRE—VR
S AL %R 96.0 96.2 HEER HERE EARREE R, LA Vi
[likER ) 7 A I« IS AN T UE L T (AAFER ) « AT (AT A2 1)

FTEDD

[£20-17F] 48 -HEFHREE OV R OREREM T v/ F v/ KoL —R 54 - ILILBHE, 75 -EE20, 8H - LU FbY/S— L Filk777 —
=B 10H -FkEDD, 2H - AIDL

(4 PE-FeEdh] K LWl AT Ry —=_ [I5ES, #ifE TR & (L], HE [EP

[FE2M T EE] mAEmE L (PEA) . VEEE SR GIRON) L IR EE (R N) L B SE 1 (RGABHRT) L ARARZTE (RN 20204 U By IX—Fil) | MG
- (AETR2022 350 By 7 - SEE 20188 By TSV AX — L) | GHIR K (P e = A7 L —F—) | ZENDAMAN (L' =7 —7 1 AR)

41



(8]

(1) REFRIE B +H
A i FE N FEI X HAEFEIN S S AR
SAE 12,778,833 12,161,286 617,547 530,094 A 1,168 122,081
AR 13,362,761 12,815,966 546,795 531,262 28,841 A 83,919
(2) BABUIK R (3) FHMA-FEH BA:FH. %
EoCiEi=pid 5 REES | 4 REREES X453 SHEREE | ML | 4 | MERkLE
M B YAl B 0.65 0.66 AN 12,778,833|  100.0 13,362,761| 100.0
- - —
(E = %%{ﬁ e ) 47.3 47.0 o L 4,028,461 31.5 3,893,887| 29.1
e )‘11 ?—5 .
?’% K ”y%i e ) 7.6 7.7 %Hgﬁ 2,295,312 18.0 2,248,855 16.8
[ c T .
j%“ @$Ej BZFQ%’B“ % 6,979,130 6,916,226 i ; 2,995,878 23.4 3,301,376 24.7
R Pty ;\}—5
"l(‘\}‘ " W%i e f 96.9 98.2 W 5 & 336,299 2.6 497,773 3.7
= =
i(Hj ﬁgﬁ E%qut 'E)‘ 10,473,098 11,360,835 o E 12,161,286| 100.0 12,815,966] 100.0
= vk NV, = 3K 3
}iﬁ%é%@%%ﬁ%%% 1,886,903 1,808,528 %‘: % 25 5,479,460 45.0 5,557,474 43.4
(% %E Bl P%E '%)’ 1,893,538 1,754,103 AN & 1,605,491 13.2 1,557,173] 12.2
2ﬁf;iﬁiélﬁgfa§§g(gﬁléﬁqlf 1,426,631 1,271,509 ) oB & 2,610,045| 21.5 2,615,348]  20.4
— — =
i}fﬁﬂ;ﬁﬁzzf?aé(igﬁf? 10,466,463 11,415,260 N =g 1,263,924 10.4 1,384,953 10.8
)(QL i @E/?: B %’B“% 150.0 165.1 ﬁ‘ g 2:2 720,538| 5.9 1,092,367| 8.5
iﬁiﬁg 690,680 5.7 1,088,576| 8.5
;ig 290,559 2.4 420,072| 3.3
(4) e bR B{I:%
FHEIRT IR AR R FENMEE = Fleg bR BHEANER
AR 15.6 61.0
A4 E 15.7 79.9
(5) BURD KR BA:FH. %
S s
X 4y ; T - 1
IR | =R IAERE | e
i [ A 1,347,872| 99.2 1,307,670| 99.1
i
ik A 397,360 99.6 369,418| 99.3
K
B 2 1,745,232] 99.3 1,677,088| 99.2
+ Hh 709,950| 99.0 681,484 98.3
&
E |F = 843,138] 99.0 808,717| 98.3
&
PE |18 B & pE 367,800 99.0 363,479| 98.3
B
2t 1,920,888| 99.0 1,853,680| 98.3

KIE| A B PESE PIT(E TTET AT 22 A 2 2 BR<

42






